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•

𝑇 𝑣 = න
0

𝐿 1

𝑣 𝑥
d𝑥

•

• 𝑥, 𝛼 𝑥 → 𝑥, 𝑣 𝑥



• 𝑃 = −𝑚𝑔𝑒𝑧 = −𝑚𝑔 sin 𝛼 𝑒𝑧′ −𝑚𝑔 cos 𝛼 𝑒𝑥
′

• 𝐹𝑠𝑜𝑙 = −𝜇𝑚𝑔 cos𝛼 𝑒𝑥′

• 𝐹𝑎𝑖𝑟 = −
1

2
𝜌𝐶𝑥𝑆𝑣²𝑒𝑥′

• 𝐹𝑝𝑟𝑜𝑝 =
𝜂𝑙

𝑏𝑅
𝐹𝑐𝑦𝑐𝑙𝑖𝑠𝑡𝑒𝑒𝑥′

𝜂𝑇𝑟𝑝𝑖𝑔𝑛𝑜𝑛 = 𝑅𝐹𝑝𝑟𝑜𝑝 𝑇𝑟𝑝𝑙𝑎𝑡𝑒𝑎𝑢 = 𝐹𝑐𝑦𝑐𝑙𝑖𝑠𝑡𝑒𝑙 𝑏

𝑙 𝑅 𝜂



•

• 𝑃 = 𝜇𝑚𝑔𝑣 +
1

2
𝜌𝐶𝑥𝑆𝑣

3

• 𝜇 ≈ 0,005 𝑆𝐶𝑥 ≈ 0,4

y = 0,1355x3 + 8,322x
R² = 0,9965

0

50

100

150

200

250

300

350

400

450

4 5 6 7 8 9 10 11 12 13 14

y = 0,271(x-1,74)3 + 6,76x
R² = 0,990
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•

d𝑣

d𝑡
= −𝑔𝛼 𝑥 − 𝜇𝑔 −

1
2𝜌𝐶𝑥𝑆

𝑚
𝑣² +

𝜂𝑙𝑀

𝑏𝑅𝑚
𝑓

•

d𝑣

d𝑥
= −

𝑔

𝑣
𝛼(𝑥) −

𝜇𝑔

𝑣
−

1
2
𝜌𝐶𝑥𝑆

𝑚
𝑣 +

𝜂𝑙𝑀

𝑏𝑅𝑚

𝑓

𝑣
•

𝑓 ≤ 𝑓𝑚𝑎𝑥

d𝑓

d𝑡
< 𝐶

• 𝑓𝑚𝑎𝑥 = 5

• 𝐶 = 0,5



• 𝜎

•
d 𝑒0−𝑒

d𝑡
= −

d𝑒

d𝑡

• ⟺

•
1

𝜉

𝜂𝑙

𝑏𝑅
𝑓𝑣

𝜉

•
1

𝜉

𝜂𝑙

𝑏𝑅
𝑓𝑣 = 𝜎 −

d𝑒

d𝑡



•

•

𝜎 𝑒 =

𝜎𝑓 +
ത𝜎 − 𝜎𝑓

𝑒𝑐𝑟
𝑒 si 𝑒 < 𝑒𝑐𝑟

ത𝜎 si 𝑒𝑐𝑟 ≤ 𝑒 ≤ 𝑒𝜑

𝜎𝑟 +
ത𝜎 − 𝜎𝑟
𝑒0 − 𝑒𝜑

𝑒0 − 𝑒 si 𝑒 > 𝑒𝜑

• 𝜎𝑟 = 6

• ത𝜎 = 21

• 𝜎𝑓 = 20

• 𝑒𝑐𝑟 = 0,3 × 𝑒0 = 510

• 𝑒𝜑 = 𝜑 × 𝑒0 = 850



•

•

•

𝜗 𝑣, 𝑥 = 𝐾
d𝑣

d𝑡

− 2

𝟙d𝛼
d𝑥

≤0

• 𝐾 = 4



•

d𝑣

d𝑡
= −𝑔 𝜇 + 𝛼 න

0

𝑡

𝑣 𝑠 d𝑠 −

1
2𝜌𝐶𝑥𝑆

𝑚
𝑣2 +

𝜂𝑙𝑀

𝑏𝑅𝑚
𝑓

d𝑒

d𝑡
= 𝜎 𝑒 + 𝜗 𝑣, 𝑥 −

1

𝜉

𝜂𝑙

𝑏𝑅
𝑓𝑣

𝑒 𝑡 > 0

• 𝑥 𝑇 = 𝐿

• 𝑣 0 = 𝑣0 = 10

• 𝑒 0 = 𝑒0 = 1657

•

𝑇 = min
𝑣

න
0

𝐿 1

𝑣 𝑥
d𝑥



•

d𝑣

d𝑡
= − 𝛼 + 𝜇 𝑔 −

1
2𝜌𝐶𝑥𝑆

𝑚
𝑣2 + 𝑝

𝑀

𝑚

1

𝑣
d𝑒

d𝑡
= 𝜎 −

1

𝜉
𝑝

• 𝑝

• 𝑀 = 62 𝑚 = 70 𝑒0 = 1 700 𝜎 = 21
𝑆𝐶𝑥 = 0,404 𝑔 = 9,81 𝜇 = 0,005 𝜌 = 1,22

•

•



•

•

•

•



•

d𝑣

d𝑡
= − 𝛼 + 𝜇 𝑔 −

1
2𝜌𝐶𝑥𝑆

𝑚
𝑣2 + 𝑝

𝑀

𝑚

1

𝑣

𝑣∞ =
𝑀𝑝

𝜌𝐶𝑥𝑆
+

𝑀𝑝
1
2
𝜌𝐶𝑥𝑆

2

4
+

𝛼+𝜇 𝑚𝑔
1
2𝜌𝐶𝑥𝑆

3

27

1

3

+
𝑀𝑝

𝜌𝐶𝑥𝑆
−

𝑀𝑝
1
2
𝜌𝐶𝑥𝑆

2

4
+

𝛼+𝜇 𝑚𝑔
1
2𝜌𝐶𝑥𝑆

3

27

1

3

𝜏 =
𝑣∞

𝜌𝐶𝑥𝑆
𝑚 𝑣∞2 +

𝑝
𝑀
𝑚
𝑣∞

=
𝑣∞

3
2 𝜌𝐶𝑥𝑆

𝑚 𝑣∞2 + 𝛼 + 𝜇 𝑔

~
𝑣∞
𝛼𝑔

𝑣 𝑡 − 𝑣∞~ 𝐾𝑒−
𝑡
𝜏

•



• 𝐿 = 5000 𝑒0 = 1700 𝜎 = 21 𝛼 = 7

←

→

←

→



•

•

𝑣 𝑡 = ҧ𝑣 + 𝐴 sin 𝜔𝑡

•

𝑓 𝑡 =
𝑏𝑅𝑚

𝜂𝑙𝑀
𝐴𝜔 cos 𝜔𝑡 + 𝑔 𝛼 + 𝜇 +

1
2 𝜌𝐶𝑥𝑆

𝑚
ҧ𝑣 + 𝐴 sin 𝜔𝑡 2

•

•

•



•

• 𝑣 𝑡 = 5,4 + 0,9 sin
2𝜋

5
𝑡

•



•

•

•

•



•

d𝑣

d𝑥
= −

𝑔

𝑣(𝑥)
𝛼 𝑥 −

𝜇𝑔

𝑣 𝑥
−

1
2
𝜌𝐶𝑥𝑆

𝑚
𝑣 𝑥 +

𝜂𝑙𝑀

𝑏𝑅𝑚

𝑓 𝑥

𝑣 𝑥

d𝑒

d𝑥
=
𝜎 𝑒

𝑣 𝑥
−
1

𝜉

𝜂𝑙

𝑏𝑅
𝑓 𝑥 +

𝜗 𝑣, 𝑥

𝑣 𝑥

•



•

𝐵 𝑋, 𝑉, 𝐸 = min
𝑓

න
𝑋

𝐿 1

𝑣 𝑥
d𝑥

𝐵 𝑋, 𝑉, 𝐸 = min
𝑓

𝐵 𝑋 + 𝛿𝑋, 𝑉 + 𝛿𝑉, 𝐸 + 𝛿𝐸 +න
𝑋

𝑋+𝛿𝑋 1

𝑣 𝑥
d𝑥

• 𝑋 𝑉
𝐸

•

•

Θ 𝑛3



• 𝑣0 = 10 𝑒0 = 1657



•

•



•

•

•

•

𝐹𝑎𝑖𝑟 = 𝜌0𝑒
−
𝑀𝑔

𝑅𝑇
𝑧𝐶𝑥𝑆𝑣²

𝑅𝑇

𝑀𝑔
≈ 8

•

• 𝑆

•

•



•

•

•



•

•

•

•


